HEARTFIELD DR-4 (312000) AND DR-5 (312100)
PARTS LIST

Ref Number Description

1 035092 TUNING KEY. LEFT, CHROME BTS/S/L
2 035053 TUNING KEY. RIGHT, CHROME BTS/S/R
3 264606 SCREW. TUNING KEY MOUNTING 24 x 10 BLACK
4 035087 BONE NUT. HQ - GRAPHITE
x5 035065 NECK SET RING, BLACK
¥5 035067 SCREW, NECK SET RING 4.5 x 40 BLACK
%5 035066 SCREW, NECK SET RING 4.5 x 35 BLACK (2ND STRING ONLY ON DR-5)
] 264917 STRAP BUTTON, NICKEL
6 264625 SCREW, STRAP BUTTON MOUNTING 35 x 25
7 035068 BACK PLATE, CONTROL
7 035069 BACK PLATE, BATTERY BOX
7 264650 SCREW, BACK PLATE MOUNTING 3 x 12 BLACK
8 035056 PICKUP RHYTHM (DR - 4 312000)
9 035088 PICKUP LEAD (DR -4 312000)
8 035070 PICKUP RHYTHM (DR- 5 312100)
9 035071 PICKUP LEAD (BR-5 3i2100)
10 035057 SCREW, PICKUP MOUNTING 3 x 30 BLACK
A 035058 KNOB. VOLUME & TONE
12 035089 - WAY MINI SWITCH
%13 035090 CONTROL ASSEMBLY (DR -4 212000)
%13 035072 CONTROL ASSEMBLY (BR-5 212100)
14 035059 BRIDGE ASSEMBLY CHROME (DR-4 312000)
14 035064 BRIDGE ASSEMBLY CHORME (DR-5 312100)
15 264677 SCREW, BRIDGE MOUNTING 3.5 x 25 NICKEL
16 035073 BRIDGE SECTION 1ST & 2ND
17 035074 BRIDGE SECTION 3RD & 4TH. 5TH (DR -5 312100)
18 035075 SCREW, HEIGHT ADJUSTMENT M 2.6 x 8 BLACK
19 035076 SCREW. LENGTH ADJUSTMENT M 3 x 40 1ST & 2ND
20 035077 SCREW. LENGTH ADJUSTMENT M 3 x 35 3RD & 4TH
21 035078 SCREW. LENGTH ADJUSTMENT M 3 x 30 5TH (DR -5 312100}
22 035063 SPRING. LENGTH ADJUSTMENT 0.6 x 35 IST & 2ND
23 035062 SPRING. LENGTH ADJUSTMENT 0.6 x 30 3RD & 4TH
24 035079 SPRING, LENGTH ADJUSTMENT 0.6 x 25 5TH (DR -5 312100)
%25 035061 SIBE JACK CANNON TYPE
* 26 035080 SIDE JACK PHONE TYPE
2 033416 NECK DR -4 312000
28 033417 BODY DR -4 312000
29 033418 NECK DR -5 312100
30 033419 BODY DR-5 312100
%31 035054 HEX WRENCH 5 x 10
* 31 035055 HEX WRENCH 1.5MM

* NOT REFERENCED

1989

Crnnifinntinma Cuhinnt ¢a Nhaman WALhAs Rlabina



RHYTHM PU

SHIELD WHT

RED (DR - 4)
WHT (DR ~ S)SHELD

WHT (DR - 4)
LEAD PU 2ep (oR- 5)

Vo,

//

[@jnjn

o

\ BLACK 26

RHYTHM PU

RUG EARTH

[ BLACK 20

O
O

RED

CANNON JACK

1989
Specifications Subject to Chanae Without Notice

BLACK

SIDE JACK

LEAD PU

BATTERY SNAP

(



